BB e A B B/ NV

TR R SRS
RIFE MR
HhEE (R[] 108 4F
k=R VAREE: I Iy
L =)
L Els 5B ® 5[ = m Egﬁa %%gf;iﬁg ——
72,129 74,609 [FH A2 76,847 76,847 0
48,345 50,265 | IEFNEHHTA 51,271 51,271 0
47,231 49,150  HkE#® 50,119 50,119 0
1,114 LS| TATHE 1,152 1,152 0
448 600 | HE{R R 3ER A E#TA 600 600 0
4438 600 |  SEEEA B 600 600 0
808 1,064 | #BI% TAEEREN 1,064 1,064 0
898 1,064 | P 1,064 1,064 0
11,974 12,362 | #fd: 13,253 13,253 0
5,714 5880 g 6,391 6,391 0
6,261 6,482  FEAkHES 6,862 6,862 0
5,053 4,861 | IR{RFNME 5,098 5,098 0
4,460 4791 BREIRIR R 5,026 5,026 0
594 70|  TEBRKEERS 72 72 0
5410 5457 | wEFIZ 5,561 5,561 0
5,038 5073 SEETLIRERE 5,193 5,193 0
372 384 HAEFZE 368 368 0
2,240 2,324 |R 52 2,348 2,348 0
841 820 | /KEZ 820 820 0
679 675| LIEZFrEE 675 675 0
162 145  TIEGRTKE 145 145 0
50 65| ENEELE 65 65 0
5 5 HEE 5 5 0
45 60| FEIEE 60 60 0
5 5| MkiER 5 5 0
5 5 B k& 5 5 0
7 7| EORIAGETHEEEE 7 7 0
7 7| ENRIRAEETE 7 7 0
503 535 | fEEfRE R AREE 563 563 0
56 63| —MEEGER 70 70 0




BB e A B B/ NV

oA E s EEE
=X
%%%%%f%
HrEE (R 1084 & o
B FreEwET
o PN HF & TH = i
Al FEOE B &5 E N == T 1 ST
;\}} :_E: %ﬁ[ ?E: :_E: %ﬁs’[ *‘I’ E é §+ Egﬁn %ﬂg—fzggl{%
291 289 Hitt 2R EEE 310 310 0
75 101 TR R i (EREE 101 101 0
82 82 FEIERL e 82 82 0
1 4| frbaE 4 4 0
1 4 HAth b 4 4 0
653 694 | —fIREE 690 690 0
347 4 Mg 345 345 0
653 347 FTHFELET R A BT 345 345 0
&
109 122 | AR 122 122 0
14 Hpamoml 14 14 0
&~ HEEERE
HE
31 18 ZatiaEn(e)s b 18 18 0
TR
78 90 Hth AR 90 90 0
72 2| AFEERE 72 72 0
72 72 N R 72 72 0
362 315 [l R A 594 594 0
362 315 | FSHAE 594 594 0
362 308 meN (%) R 308 308 0
7 HAthH SoH#E 286 286 0
138 [EEECEE - #PE 138 0 138
7 IR B 1Y 2 R A
Y H
138 | HEEEE e &= 138 0 138
138 Mo B R T s 138 0 138
6 6 (&% ~ 1B8) ~ #HB) ~ 4 6 6 0
TR RO
EEE
6 6| ffG ~ AEE - & 6 6 0
i~ HEeE SRS
6 6 RIRE - HEGE ROREN 6 6 0
%




BB e A B B/ NV
UNAE S S EE S
BB HSETR

HEE L1084 2 B
AT HrET

E o J& H B L

i A A o[ g | O
%1 278 [t 0 0 0

261 278 | EHAth Sz H 0 0 0

261 278 | HAth 0 0 0

uow|  men| & 0 oz 72993 79,795 138




